3/8 HEX NUT (X1)
3/8 LOCK WASHER (X1)
3/8 FLAT WASHER (X1)

.

5/16 HEX NUT (X4)
5/16 LOCK WASHER (X4)
5/16 FLAT WASHER (X4)

3/8 CARRIAGE BOLT (X1)

ADAPTER PLATE
5/16 CARRIAGE BOLT (X4)

© ©
C ®

© ©

~—3.75 —

SPACING BETWEEN MOUNTING BOLTS ALLOWS
FOR MOUNTING BRACKETS 3.75"LONG OR SMALLER

‘“ = T VTS
BUNK BOARDS
EXISTING MOUNTING BRACKET 540 HOG MOUNTAIN RD

JEFFERSON GA, 30549

1. INSTALL 5/16 HARDWARE ONTO PLATE AS SHOWN. KEEP
HARDWARE LOOSE

2. SLIDE CARRIAGE BOLTS DOWN BOTH GROOVES

3. VERIFY MOUNTING HOLE ON TRAILER MOUNTING BRACKET IS
1/2 INCH DIAMETER

4. TURN BUNKBOARD OVER AND ALIGN CENTER CARRIAGE
BOLT TO MOUNTING BRACKET ON TRAILER

5. TIGHTEN CENTER 3/8 NUT

6. ADJUST BUNKBOARD INTO DESIRED POSITION AND TIGHTEN
ALL CORNER NUTS

ADAPTER PLATE

g

SLIDE CARRIAGE BOLTS
INTO GROOVES

APK-1 ASSEMBLY

INTL. JG 10/7/2024
SCALE: 1:4 SHEET 1 OF 1



	Sheet1
	Drawing View1
	Drawing View14
	Drawing View15
	Drawing View16


